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PR R 85 A\ 57 A
Tavy—v— 300 A 8 A
Ry RIS AR RE 40.0 ha 23.4 ha
R L=V TOBMIZE T 51 i 0 [al/4
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JEERI - E AR A S O BR i 1 [a]/4F 1 [a]/4F RO BE
HNFLOE A B OB 1 [a]/4F 1 [a]/4F RO BE
HNFOE MBI TR = 5 [al/4F 5 [Bl/4F FEREO B AR
F&UZ — U R ER AR 650 A 434 N\
ERE - =T B EE I — 180 A 1A
SRR AITAIE 300 A 256 A
O EMAEICED  [H AREEFD - K - i 17 % 17 %
IERHEROIER | o o s o 1 R fite 2 Fpi | fsl
i;;%é* (ZHE S IE M R o 1,400 f& FF 1,383 f& AT
FEAEFLYED RE L i 5
JE s B R A oD R 415K 18 % 15 %
KA 5 Uik (Gefth) O E 16 JA 16 JA FEFE RO B AR
OZhRIMBABREA  [{EAMFE 235 D K
XD RIEOHIK | =Ry 3H) 15,800 kg 9,026 kg
(KRB SHEA) 35,000 © 29,760 0
T8 f S P S L R D P A 6 f&iT 5 &EPT
R CEMTE LI EMAE T IED 3 F1 1 4
EYN
IPM O i 4 1E% 1 159
OB ORI |3 T VRO KK 85 % 80 %
HIF FESERE IR O 25 IR o HEE A 1B
JESER OB TR D BRI B 5 fitiak 6 fitiak
JEER G S 0 FE i 5 [|]/ 4 3 [ml/4F RO BE
OZDEM D K ANEEAR — L D AGEK 75 % 65 %
igﬁ%ggﬁ BEMTITATF ORI EED 55 % 45 %
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=g 17T5E 184 & 194 E 204 E 11EE 225
BT REE 680 A 702N 902 A\ 1,293 A 1,425 A
(9.6) (12.8) (42.0) (99.0) (118.2)
= YN 129N 129N 1EAN 281N 2TEN
(27.3) (27.3) (18.2) (172.7) (163.6)
SR E LR 63 A 64 A 66 A 67N 70N
(21.4) (25.0) (32.1) (35.7) (46.4)
a7 y—v— 160 A 286 A 410 A 493 A 597 A\
(52.1) (95.2) (137.7) (166.1) (201.7)
< R RS 3 Rk [ 35 21.0ha 20.7ha 21.4ha 23.7ha 22.5ha
(A 14.5) (A 16.3) (A 12.0) (1.8) (A 5.4)
TR DR —= VT DGR D ( | E v v )
15 AT
LRI - BRGSO B 1[A] 1[A] 1[A] 1[A] 1[A]
(100.0) (100.0) (100.0) (100.0) (100.0)
HHNTFLOE AR #E OB 10=] 1] 1] 1] 1]
(100.0) (100.0) (100.0) (100.0) (100.0)
FHWFOE MBI 72085 e i 5[A] 2[A] 2[A] 2[A] 2[A]
(100.0) (40.0) (40.0) (40.0) (40.0)
‘F&UH— U REEGMWE EIT— 551 A 551 A 624 A 623 A 818 A
(54.2) (54.2) (88.0) (87.5) (177.8)
CEAESE =T I — 117N 135 A 158 A\ 186 A 285 A\
(42.2) (58.7) (79.8) (105.5) (65.9)
RERAITIHE 261N 267\ 271N 276 A\ 285 A\
(11.4) (25.0) (34.1) (45.5) (65.9)
< A PR K - it 13% 16% 16% 10% 11%
(76.5) (94.1) (95.3) (57.6) (64.7)
- HEAE D> Mgl N it 1 0 5 M AR 1541 1541 1541 27451 RE:=R 1]
(0.0) (0.0) (0.0) (100.0) (200.0)
PN SGE EAROSE | 1,390t 8T | 1,955 P | 1,77684PT | 1,354 FT | 2,482 P
& (41.2) (3364.7) (2311.8) | (A 170.6) | (6464.7)
iR RED RELL ( ) |« ) 1« ) 1« ) 1« )
MmN D K YO 16% 16% 16% 16% 16%
(33.3) (33.3) (33.3) (33.3) (33.3)
<K 05 EUlmAs (G O E 16JA 16JA 16JA 16JA 16JA
(100.0) (100.0) (100.0) (100.0) (100.0)
~ERATAS A D 12,386kg | 16,000kg | 16,000kg | 10,311kg 9,515kg
(PR o7 A (49.6) (103.0) (103.0) (19.0) (7.2)
(RBUAR IV HEA) 16,1870 40,0000 42,0000 20,7320 19,8900
(A 259.0) (195.4) (233.6) (A 172.3) | (A 188.4)
« JE I R RO LS OO TR i Y 614 I 614 I 614 I =B
(0.0) (100.0) (100.0) (100.0) (100.0)
BFCEM CELRAETEFED 2545 27451 27451 2 {51 2 {51
EEYN (50.0) (50.0) (50.0) (50.0) (50.0)
- IPMOHE 31EW 31EW 31EW 31EW 31EW
(66.7) (66.7) (66.7) (66.7) (66.7)
T IV RS D KAER 80% 80% 80% 80% 80%
(0.0) (0.0) (0.0) (0.0) (0.0)
- B S M oD 2L [RIF1) F oD HE A 18 45 98%H 1105 1205
(0.0) (75.0) (675.0) (975.0) (1225.0)
- B SE R O B i i % D B =R A0 5 it 7% 5 it 7% 5 it 7% 5 it 7% 5 it 7%
1) (100.0) (100.0) (100.0) (100.0) (100.0)
- R MR R R 2 0 i 0] 30[H] 5[] 5[] 5[H]
(A 150.0) | (1350.0) (100.0) (100.0) (100.0)
AR AR R — /L DB APLK 64% 70% 70% 70% 64%
(A 10.0) (50.0) (50.0) (50.0) (A 10.0)
-;%%ﬁﬁf?x%wwlﬁluz-@@@ 45% 50% 51% 52% 50%
R 0.0) (50.0) (60.0) (70.0) (50.0)
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